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Numicon Key Stage 1 National Curriculum Test Practice Questions 

2D shapes • Ask children to draw a pentagon, hexagon and triangle (these can be irregular
shapes). Teach children quick ways of doing this, e.g. a pentagon can be like a pencil
or a  joined across the top; a hexagon can be like a square with two corners cut off
diagonally. When children are confident with these shapes, introduce an octagon.

• If a square has a side 5 cm long (vary number), how long will the other sides be? Why?

• Draw a right angle. Draw a shape with two right angles, or four right angles.

• Draw a shape on the whiteboard that has a line of symmetry. Discuss where the line
of symmetry would be.

• Ask children to draw the letter ‘H’. Draw its lines of symmetry. Try other capital letters.

3D shapes and their properties Have ready: 3D shapes (geometric blocks and/or packets)

• Hold up 3D shapes one at a time asking: What is this called?

Continue by asking one or more of the following questions: 

• How many faces does it have?

• How many vertices?

• What shape is this face?

• How many edges?

• Where appropriate children try drawing 3D shapes on isometric paper.

Position and movement Have ready: cm-square paper

• Give children instructions, e.g.: 'Choose a starting point, near the middle of the paper.
Draw a line forward three squares, make a quarter turn right and move forward two
squares, make a quarter turn to the left and move forward two squares, make a
quarter turn to the left and move forward two squares', make a quarter turn to the left
and move forward three squares, and so on, that involve turns and right angles, and
that make up a route on the cm-squared paper: left 2, up 1, right, and so on.

Using graphs and pictograms as a 
context for questioning

Have ready: a simple pictogram or block graph

This pictogram example uses data about vehicles. Similar pictograms or block graphs 
could be prepared. The whole class can work from enlarged versions on the board, or 
provide pairs of children with copies of the pictogram. 

Explain to children that this graph shows the different sorts of vehicle in a child’s toy 
garage. 

• Which vehicle did the child
have most of?

• What is the difference
between the number of
cars and vans they had?

• How many more cars did
they have than lorries?

• They were given three
sports cars. Draw them
on the graph.

• How many vehicles did
they have altogether?
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1

Equivalence – empty box questions

Make these equal on both sides of ‘=’.

3  = 7 + 2 4  8 = 5 + 5       7 = + 3

8  6 −  = 4 9  7 = 10 − 10  − 2 = 5

These are not equal. Use < or >.

11  3 + 3  4 + 3 12  3 + 5  4 + 1 13  2 + 7  4 + 4

Add the missing numbers to make the number sentences balance.

    4 +  = 10       10 = + 1

Total: ____ / 13 marks

4 + £ = 10 10 = £ + 1

1

6

2

7

Add the missing numbers to make the number sentences balance.

           2 + 8 = 6 +  + 4 = 3 + 3
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1  10 + 8 =   2  18 − 8 = 

3  40 + 6 =   4  23 − 3 = 

5  7 + 80 =   6  52 − 50 = 

7  30 + 9 =   8  94 − 90 = 

11  50 +   = 53  12  64 = 4 + 

13   = 70 + 2  14  58 −   = 50

9  The squirrel has 17 nuts. How many are hidden? 

10  One minibus holds 10 passengers.

 There are 29 people waiting for the minibuses.

 Two minibuses arrive together and are filled.

 How many people are still waiting?

Partitioning into tens and ones

Total: ____ / 14 marks
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1   Shade half of each of these  
shapes.  

1  

2   Divide this shape into quarters, 
and then shade three quarters.

 

3   Draw the other half of this 
shape.

 

4   Circle one quarter of the 
strawberries.

 

5  Circle the shape that does not have half shaded.

  

Halves and quarters 

Total: ____ / 14 marks

6  Half of 14 is   7  One quarter of 16 is 

8  1
2 of 30 is   9  1

4 of 20 is 

10  1
2 of 28 litres = ℓ   11  1

4 of 80 ml = ml

12  1
2 of 50 g = g   13  3

4 of 20 = 

837545_NUM_TTP_KS1_22-27.indd   25 18/01/2016   09:58

Name   Date     

22
© Oxford University Press 2016. This page can be copied for use in the purchasing school.
Numicon Key Stage 1 National Curriculum Test Practice Questions 

8

1  Each pot needs 2 seeds.  
 Write the calculations.

  +  +  +  +  +  = 

  ×  = 

2  Each pot contains 3 pencils.  
 Write the calculations.

  +  +  +  = 

  ×  = 

6  Find the cost of: 

  5 apples p  6 bananas p

  2 pears p  3 satsumas p

  3 plums p

3  1 × 9 =  4  6 × 5 =  5  4 × 0 = 

Multiplying 1

Total: ____ / 10 marks
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1   How much does it cost for 3 adults  
and 2 children to visit the museum? 

Museum ticket prices

Adult £5

Child £3

2  Edward saved four 10p coins, four 5p coins and four 2p coins.

   How much money has he saved? 

 p

5  Write these numbers in the correct spaces on the diagram.

 7  20  35  30  16  21  12  15

 

3     4   

 2 × 7 = 7 × 2 = 

        ×  =  ×  = 

Multiplying 2

Total: ____ / 13 marks

£

6  5 ×  = 25 7  7 ×  = 70 8  2 × 6 = 3 × 

multiple of 2

multiple of 5

not a multiple of 2
10
5

not a multiple of 5

4
9
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Name   Date     30

Further problem solving and calculating 2

1   Oranges are arranged in the tray with 5 oranges in each row.  
There are 4 rows. At snack time three children have an  
orange each. How many are left in the tray?    

How much do each of these scales weigh now? 

0
g

50

1090

4060

2080

3070

0
g

50

1090

4060

2080

3070

0
g

50

1090

4060

2080

3070

0
g

50

1090

4060

2080

3070

10 g extra are put  
on these scales.      

30 g extra are put  
on these scales.      

4   Tick (✓) the descriptions that are true. 

 a) Shows one half.   b) Shows one quarter.  

 c) Shows one quarter.   d) Shows one third.  

 e) Shows one half.   f) Shows three quarters.  

3

Total: ____ / 5 marks

2
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20p
20p

20p

50p

Name   Date     

Further problem solving and calculating 3

1  a)  Sita spends 80p of the  

money in her purse.  

Tick (✓) the fewest number  

of coins she could use.

 b)  Write another way she  

could pay using the coins  

in her purse.

  

 c)  How much will she have left?

  

2  Here are some numbers in a sequence: 6, 8, 10, 12 ...

  Circle the numbers that would also be in the sequence  

if it were  continued.  

 18  15  24  33  23  30  

3  Draw the hands on the clocks to show the time.

31

12

6

111

57

210

48

39

12

6

111

57

210

48

39

12

6

111

57

210

48

39

12

6

111

57

210

48

39

quarter  
to 10

half past 8 quarter  
past 11 

twenty-five 
past 2

Total: ____ / 8 marks
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9
22 | 924 

2 marks

10
39 | 9165 

2 marks

11
68 | 289 

2 marks

12
29 | 6293 

2 marks

13
23 | 2576 

2 marks

14
44 | 6094 

2 marks

15
42 | 9875 

2 marks

16
35 | 8050 

2 marks
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2 4–5 − 2–5 =

1 mark

4 3–8 + 3–4 =

1 mark

6 2–3 − 1–9 =

1 mark

8 3–5 + 3–4 =

1 mark

1 3–4 of 840 =

1 mark

3 5–8 of 4000 =

1 mark

5 3–7 + £ = 5–7

1 mark

7 2–9
1– − 5–9 =

1 mark

Fractions 1

Numicon Key Stage 2 National Curriculum Test Practice Questions – Arithmetic
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2 £% of 580 = 58

1 mark

4 5% of 350 =

1 mark

6 60% of £ = 300

1 mark

8 72% of 2000 =

1 mark

1 30% of 60 =

1 mark

3 25% of 200 =

1 mark

5 90% of 450 =

1 mark

7 15% of 840 =

1 mark

Percentages
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2 63 ÷ (17 – 8) =

1 mark

4 18 − (4.9 + 5.1) =

1 mark

6 25 − 5 ÷ (3 + 2) =

1 mark

8 8 + 24 ÷ 4 =

1 mark

1 3 + 5 × 8 + 7 =

1 mark

3 180 − 12 × 5 =

1 mark

5 78 − 52 × 2 =

1 mark

7 23 + 4 × (7 + 2) =

1 mark

Order of operations
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Algebra 1

2 Here is an equation.

25 ÷ x = x
What is the value of x?

1 mark

3 The numbers in this sequence increase by equal amounts each time.

Write the 3 missing numbers.

5 15

What would the next number in this sequence be?

2 marks

4     and  each stand for a different number.

 = 30

+ =  × 

What is the value of   ?

1 mark

1 Ela has some coins in her purse. She has 5 coins of one type and 3  
of another type. Altogether she has £2.50. 

What two types of coin does she have?

Ela has 5     p  coins and 3     p  coins.
1 mark
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Algebra 2

5 Ravi thinks of a number.

He multiplies it by 3 and then adds 6.

He then divides this result by 4.

His answer is 11.25.

What was the number he started with?

2 marks

6 The difference between two numbers is 8. When each number is 
rounded to the nearest 10, they both round to the same number. 

Write what the two numbers could be.

 and
1 mark

7 Hana is making flowers, increasing the number of petals each time.

How many petals will her next flower have?
1 mark

8 Here is an equation.

4k – 8 = 28

Calculate the value of k. k =
2 marks
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2 marks

4     and  each stand for a different number.

 = 30

+ =  × 

What is the value of   ?

1 mark

1 Ela has some coins in her purse. She has 5 coins of one type and 3  
of another type. Altogether she has £2.50. 

What two types of coin does she have?

Ela has 5     p  coins and 3     p  coins.
1 mark
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Algebra 2

5 Ravi thinks of a number.

He multiplies it by 3 and then adds 6.

He then divides this result by 4.

His answer is 11.25.

What was the number he started with?

2 marks

6 The difference between two numbers is 8. When each number is 
rounded to the nearest 10, they both round to the same number. 

Write what the two numbers could be.

 and
1 mark

7 Hana is making flowers, increasing the number of petals each time.

How many petals will her next flower have?
1 mark

8 Here is an equation.

4k – 8 = 28

Calculate the value of k. k =
2 marks
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Measuring 5

16 Penny weighs 5 coins. She says, ‘All my coins have a different value  
and they have a combined mass of 34.37 grams.’

What is the total value of Penny’s coins?

Value of coin 1p 2p 5p 10p 20p 50p £1 £2

Mass of coin 3.56 g 7.12 g 3.25 g 6.5 g 5.0 g 8.0 g 9.5 g 12.0 g

£

 

2 marks

17 Shivani’s cat weighs 5 kg. Look at the table below. 

What is the maximum number of days a 1.5 kg bag of cat 
food will last if she follows the suggested portion size?

Mass of cat Daily portion size
2–4 kg 35–70 g
4–6 kg 70–100 g
6–8 kg 100–135 g

1 mark

18 Approximately how many 15 ml servings are contained within a  
570 ml bottle of vinegar?

2 marks
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2 Calculate the area of this trapezium.

cm2

2 marks

3 The illustration shows a shaded square inside a larger square. 

What is the difference between the areas of the larger square and  
the shaded square?

cm2

2 marks

Area, perimeter and volume 1

1 What is the perimeter of this shape?

cm
2 marks

5 cm

10 cm

12 cm

4 cm

3 cm

6 cm

12 cm

7 cm

16 cm

5 cm
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25 1 mark for £3.24
2 marks for 600 g 
1 mark for correct method and/or giving exact amount of 575 g
(£1.08 × ? = £6.21, £1.08 × 5 = £5.40. £6.21 − £5.40 = 81p 
£0.81 ÷ £1.08 = 0.75 or 81 ÷ 108) 

3 NPC6 Calc 7

26 2 marks for: 
Alex Mum Dad Ben

Age: 3 30 35 7
1 mark for correct attempt: 
a + (a + 4) + (10a) + 5(a + 4) = 75, 17a + 24 = 75, 17a = 51, a = 3 
Once worked out Alex is 3 the rest can be worked out from there.

2 NPC6 PA 3

Measuring

1 1 mark for both parts correct:
Strawberry’s mass < Gooseberry’s mass 
Gooseberry’s mass > Blueberry’s mass < Strawberry’s mass
Do not accept words instead of signs, e.g. do not accept 
‘less than’ in place of <.

1 GMS3 Mea 5

2 1 mark for 455 g
1 mark for 310 mm

2 GMS4 Mea 3 
and 4

3 1 mark for all in the correct order
Norwich Birmingham Nottingham Derby

1 GMS4 Mea 3

4 1 mark for correctly drawing the line at 1.3 litres, between the 
1.25 and the 1.5 litres marks

1 GMS3 Mea 6

5 1 mark for correctly measuring the diagonal line to be 42 mm.
Accept an answer between 40 mm and 44 mm.

1 GMS3 Mea 3

6 1 mark for 8 minutes and 39 seconds 1 GMS4 Mea 1

7 1 mark for Thursday 23rd June 1 GMS5 Mea 7

8 1 mark for 08:14
Accept accurate alternatives, e.g. 14 minutes past 8, 8:14 am.

1 GMS4 Mea 1

9 1 mark for hands drawn on an analogue clock correctly 
showing 11 minutes past 7.
Do not accept indistinguishable hand lengths or the hour 
hand pointing directly towards the 7.

1 GMS4 Mea 1

10 1 mark for 40 minutes 1 GMS5 Mea 7

11 2 marks for all conversions correct:
1060 g is the same as 1.06 kg
6 g is the same as 0.006 kg
10.6 kg is the same as 10,600 g
Award 1 mark for 2 correct responses

2 GMS5 Mea 1

12 1 mark for 10 litres 1 GMS5 Mea 1

13 1 mark for an answer of 3 kg 1 GMS5 Mea 1

14 1 mark for approximately 180 miles 1 GMS5 Mea 1

837546_NUM_TPP_KS2_68-80.indd   76 11/01/2016   15:11

Numicon – Key Stage 2 National Curriculum Test Practice Questions

77

15 1 mark for hands drawn on an analogue clock correctly 
showing twenty to 4.
Do not accept indistinguishable hand lengths or the hour 
hand pointing directly towards the 3 or 4.

1 GMS3 Mea 1

16 2 marks for £1.67 (2p + 5p + 10p + 50p + £1).
1 mark for evidence of adding the coins to the correct mass 
of 34.37 g, even if the final answer of £1.67 is not given.

2 GMS5 Mea 7

17 1 mark for 21 days (1500 ÷ 70 = 21 37, which means it will last 
for 21 whole days)

1 GMS5 Mea 7

18 2 marks for 38 portions
1 mark for 568 ÷ 15.

2 GMS5 Mea 7

Area and perimeter
1 2 marks for 52 cm. 1 mark for adding all 8 sides. 2 GMS5 Mea 3
2 2 marks for 57 cm2. 1 mark for  12  × (12 + 7) × 6. 2 GMS6 Mea 2

3 2 marks for 110 cm2

1 mark for a correct attempt at the calculation, e.g. 
The area of a small white triangle = 12 (5 × 11) = 27.5 cm2

4 white triangles = 27.5 × 4 = 110 cm2

2 GMS6 Mea 2

4 1 mark for 18 cm
1 mark for 18 cm2 
1 mark for a correctly drawn shape such as 2 cm × 9 cm  
(area = 18 cm2 but perimeter = 22 cm)

3 GMS6 Mea 2

5 2 marks for 6 m (6000 mm).
1 mark for a correct attempt at the calculation but an incorrect 
conversion from mm to m.

2 GMS5 Mea 3

6 2 marks for 8 cm. 1 mark for 168 = 3 × 7 × ? 2 GMS6 Mea 4
7 2 marks for 135 cm3. 1 mark for 3 × 3 × 3 × 5 =135 cm3 2 GMS6 Mea 4

Shapes and symmetry
1 2 marks for:

H and L
H

2 GMS3 Geo 1

2 1 mark for 2.5 cm 1 GMS5 Mea 3
3 1 mark for ticks on the square and the pentagon. 1 GMS5 Geo 3
4 1 mark for all lines of symmetry correctly drawn: 1 GMS4 Geo 2
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Measuring 5

16 Penny weighs 5 coins. She says, ‘All my coins have a different value  
and they have a combined mass of 34.37 grams.’

What is the total value of Penny’s coins?

Value of coin 1p 2p 5p 10p 20p 50p £1 £2

Mass of coin 3.56 g 7.12 g 3.25 g 6.5 g 5.0 g 8.0 g 9.5 g 12.0 g

£

 

2 marks

17 Shivani’s cat weighs 5 kg. Look at the table below. 

What is the maximum number of days a 1.5 kg bag of cat 
food will last if she follows the suggested portion size?

Mass of cat Daily portion size
2–4 kg 35–70 g
4–6 kg 70–100 g
6–8 kg 100–135 g

1 mark

18 Approximately how many 15 ml servings are contained within a  
570 ml bottle of vinegar?

2 marks
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2 Calculate the area of this trapezium.

cm2

2 marks

3 The illustration shows a shaded square inside a larger square. 

What is the difference between the areas of the larger square and  
the shaded square?

cm2

2 marks

Area, perimeter and volume 1

1 What is the perimeter of this shape?

cm
2 marks

5 cm

10 cm

12 cm

4 cm

3 cm

6 cm

12 cm

7 cm

16 cm

5 cm
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